
01

012

MODULAR BORING SYSTEM

ZWEISCHNEIDERBOHRKÖPFE MIT EINBAUHALTER
CABEZAL DE DESBASTE CON DOBLE FILO DE CARTUCHOS 

TESTINA DI ALESATURA BILAMA COMPLETA DI CARTUCCE   
TETE A DOUBLE TRANCHANT AVEC CARTOUCHE       

EINBAUHALTERPAAR FÜR ZWEISCHNEIDERBOHRKOPF
PAR DE CARTUCHOS DE RECAMBIO 

PARA CABEZALES DE DESBASTE DOBLE FILO

COPPIA DI CARTUCCE DI RICAMBIO PER TESTINE DI ALESATURA BILAMA   
COUPLE DE CARTOUCHES POUR TÊTE D’ALÉSAGE À LAME DOUBLE TRANCHANT     

 CODE N. DESCRIPTION MD No. INSERT
INSERT 
SCREW

Qt.

524-90001 CRT-2533 2 CC..0602.. 811-226018 2

524-90002 CRT-3242 3 CC..09T3.. 811-256026 2

524-90003 CRT-4154 4 CC..09T3.. 811-256026 2

524-90004 CRT-5370 5 CC..1204.. 811-256027 2

524-90005 CRT-6890 6 CC..1204.. 811-256027 2

524-90006 CRT-88110 6 CC..1204.. 811-256027 2

524-90007 CRT-98126 6 CC..1204.. 811-256027 2

524-90008 CRT-125153 6 CC..1204.. 811-256027 2

* COMPLETA DI CARTUCCIA - * CARTRIDGE INCLUDED   

 
INSERT 

WRENCH
 

CODE N.

 
 

Qt.

 
INSERT 
SCREW

 
 

CODE N.

 
 

Qt.

 
 

CODE N.

 
 

DESCRIPTION

 
MD 
N

 
MD 
NO

 
 

INSERT

 
 

CODE N.

 
INSERT 
SCREW

 
 

Qt.

T8 816-122010 1 m2,5x6 811-226018 2 523-90001 CRT-2533 2 2 CC..0602.. 811-226018 M2.5*6 2

T15 816-122011 1 m4x10 811-256026 2 523-90002 CRT-3242 3 2 CC..09T3.. 811-256026 M4*10 2

T15 816-122011 1 m4x10 811-256026 2 523-90003 CRT-4154 4 2 CC..09T3.. 811-256026 M4*10 2

T20 816-122012 1 m5x12 811-256027 2 523-90004 CRT-5370 5 2 CC..1204.. 811-256027 M5*12 2

CODE N. DESCRIPTION MD No. D D1 L d

523-90001 MD2-CL2533 2 25-33 23,5 35,5 14

523-90002 MD3-CL3242 3 32-42 30,5 40 18

523-90003 MD4-CL4154 4 41-54 38,5 47 22

523-90004 MD5-CL5370 5 53-70 49,5 57 28

523-90005 MD6-CL6890 6 68-90 63 71 36

523-90006 MD6-CL88110 6 88-110 63 71 36

523-90007 MD6-CL98126 6 98-126 63 71 36

523-90008 MD6-CL125153 6 125-153 63 71 36

 CODE N.
 LOCK  

SCREW
CODE N. Qt.

ADJUSTING 
SCREW 

CODE N. Qt.
INTERNAL 

HEX.WRENCH
CODE N. Qt.

INTERNAL 
HEX.WRENCH

CODE N. Qt.

523-90001 M5*20 811-401160 2 M3*6 811-402090 2 S4 816-111029 1 S1.5 816-111030 1

523-90002 M6*20 811-401161 2 M4*8 811-402091 2 S5 816-111031 1 S2 816-111032 1

523-90003 M8*25 811-401162 2 M5*8 811-402092 2 S6 816-111028 1 S2.5 816-111034 1

523-90004 M10*35 811-401167 2 M6*12 811-402082 2 S8 816-111020 1 S3 816-111021 1

DOUBLE-BIT HEADS WITH CARTRIDGE

COUPLE OF SPARE CARTRIDGES FOR TWIN CUTTER BORING HEADS


